
Doplňte nejpravděpodobnější tvar slovesa v závorkách. Jedno sloveso 
v souvětí je v čase minulém prostém, druhé v předminulém prostém.

a)  I (want) to buy something for Claire, but when I got there they (close) for 
the day.

b)  I (offer) to introduce them, but they (meet) already.

c)  Although they (all be) nervous the premiere (be) a huge success.

d)  She (arrive) on time even though she (oversleep).

e)  Although I (put) it in my diary I (forget) about it at the last minute.

f )  The building (already be) covered in graffiti, even though they (reconstruct) 
it only very recently.

Insert the verb in brackets in its most likely form. One verb in each 
sentence must be in the past simple, the other in the past perfect 
simple.

a)  I wanted to buy something for Claire, but when I got there they had closed 
for the day. 

b)  I offered to introduce them, but they had met already.

c)  Although they had all been nervous the premiere was a huge success.

d)  She arrived on time even though she had overslept.

e)  Although I had put it in my diary I forgot about it at the last minute.

f )  The building was already covered in graffiti, even though they had 
reconstructed it only very recently.


